Geometry Practice G.GPE.B.5: Parallel and Perpendicular Lines 1 Page 1

WWW.jmap.org

NAME:
1. Find the pair of parallel lines. 7. Which of the following lines is not parallel to
(1) —12y+15x =4 y=5x-27?
(2) 4y = —-5x-4 [A] ¥y = x-2 [B] 5x—y =1
(3) I5x+12y =4
[C] y-5x =1 [D] 10x-2y =1
2. Find the pair of parallel lines. ) ' '
(1) 2y = —4x+6 8. Find the pair of parallel lines.
(2) 32x+16y =6 (1) =15y =20x =2
(3) —16y+32x =6 (2) 3y = 4x+2
(3) —20x+15y =2
[A] (1) and (2) [B] (1) and (3)

3. Find the pair of parallel lines.
(1) =3y = 2x+5 [C] (2) and (3)

(2) —6y+4x =5 [D] There are no parallel lines.
(3) 4x+6y =5

9. Find the pair of parallel lines.

4. Which of the following equations has a graph (1) —8x -8y =-1

that is parallel to the graph of 4x -2y =77 2)y=-x-1
P S g (3) 8y—8x =-1
[A] 4x+2y=2 [B] -2y =4x+2
[A] (1) and (3) [B] (2) and (3)
[C] T-4x=2y [D] 2y =4x+7

[C] (1) and (2)

[E] —4x-2y=-7 [D] There are no parallel lines.

5. Which of the following lines is not parallel to 10. Find the pair of parallel lines.
y = Ax+s? (1) —14y+21x =5
[A] y—4x =2 [B] 4x-y =6 (2) 21x+14y =5
[C] 8x—2y =6 [D] 4x+y =5 (3) 2y = =3x+5
[A] (1) and (3) [B] (2) and (3)

6. Which of the following lines is not parallel to [C] (1) and (2)
y=2x+1? [D] There are no parallel lines.

[A] 4x-2y =4 [B] 2y—-x =4
[C] y—-2x =6 [D] 2x—-y =4
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[1] (2)and (3)

[2] (1)and (2)

[3]1 (1)and (3)

[4] D

[5] D

[6] B

[71 A

[8] C

91 C

[10] B




